CITIZEN

Service Manual

Model : iIDP-3530

Japan CBM Corporation
Information Systems Div.



iDP-3530 Service Manual

Contents
1. Disassembly and ASSEMDIY .....ccviiiiieieci sttt b e b e et e re e e renrenreenenrenrn 3
A O o) I 1 "o = S 9
3L PAITS POSILION ... ettt bbb bt he bbb et e bt eb e b e e e Rt e bt e b s e e e e Rt bbb e e ebe b b e 13
T e 1 £ I STV PRSP 18

CITIZEN 2



iDP-3530 Service Manual

1. Disassembly and Assembly

CITIZEN 3



iDP-3530 Service Manual

2) Unfasten 4 screws as shown in the figure and lift the Upper Cover

1. How to remove the Upper Cover

1) Remove the Printer Cover

Upper Case

CITIZEN



iDP-3530 Service Manual

2. How to remove the Printer Mechanism and the Printer Unit

2-1. How to remove the Printer Mechanism

1) Remove the Printer Cover

2) Remove the Upper Cover

3) Disconnect each connector

4) Unfasten 2 screws as shown in the figure

5) Lift the Printer Mechanism in the position of the arrow for removal

2-2. How to remove the Printer Unit

1) Remove the Printer Cover

2) Remove the Upper Cover

3) Disconnect each connector

4) Remove the AC Cord from the Bottom Case

5) Unfasten a screw as shown in the figure

6) Lift the Printer Unit in the arrow position removal

Bottom Case

CITIZEN 5




iDP-3530 Service Manual

3. How to remove the Control Board

1) Remove the Printer Cover

2) Disconnect each connectors

3) Unfasten 2 screws in the Shield Plate mounting screw to remove the Shield Plate

® Seria Inerface Board

1) Unfasten 2 screws to remove interface board
® Pardld Interface Board

1) Unfasten 2 screws to remove interface board

Control Board Assy

A\ Shield Plate

CITIZEN 6



iDP-3530 Service Manual

4. How to remove the Power Supply Unit

1) Remove the Printer Unit and the Control Board

2) Remove the AC Cord from the Chassis

3) Unfasten 2 screws called the Power Supply mounting screws

4) Unfasten ascrew called the Head Sink mounting screw

5) Lift up the Power Switch during lifting up the Power Supply Unit above, then you can remove the Power
Supply Unit

Cord Bush

Power Switch

CITIZEN 7



iDP-3530 Service Manual

5. How to remove the PE Switch

1) Remove the Printer Unit and the Printer Mechanism

2) Remove the connector from the Control Board

3) Push the jointing parts the direction of the arrow and remove the jointing parts from the Chassis.

4) Push the upper side and lower side of jointing parts to the arrow direction, then you can remove PE Switch

///Connector

PE Switch

CITIZEN 8



iDP-3530 Service Manual

2. Circuit Diagram

CITIZEN 9



iDP-3530 Service Manual

m

(1) Power Supply Unit

DS/_2KBPO2 TRI 258374L VP(4V) (ciig)
s N Oy
- M ¥ ol ]
Transfomer _ MS2TL gy F $p3
E4001-810 120V(25-0174) | 4 W] jax
E4001~B15 220V(25-0175) ] _ Fles
I ~ ! o _
) NF " 2 390 _ rﬂ ISVATOMF
EA0L4-230 220V SU0V10030 ! 2 65 5 e _ 3 IR
AC Cord N =" 1 ﬁcﬁuoo.cq OF a2 |isd
ES100-810 120V(25-0184) __[ZS Ll ! ._. 601 Fl GNDCP)
E6100-815 220V(25-0185) ] ] Lt %..Iv
. - ct | ! e Ic2 —
m m olp -_1" “ I_o.=._ 2€2 Kksro2 PPCZUOSHF vee(sv)
. e L] our
VI P —ne T <
I A D e S S vt o
Fa ! -4
PL , i & o )
Sash EA005—{70 220V (EARK-500m ce i il o
E6101-105  120v0ma) EAO0S-475  120V(SE-1A) i | Zmiey 104 eV io0uF
ES100-125 220V (MPSN4} i I mo  F
F13 ! ! 3
EA005-550  220V(EAK-1A) ! : =
E4005-475 120V(SMF-1A) ! : GND(S)
" Ad. —
— e J N
PCB NO. PC750-02
TREATMENT MATZRIAL Lo _ _
. ) ¢= [ MARK | DATE REVISION )REV. N|
. TOLERANCE TILE
; RO LaReis z.wun. _ o CIRCUIT DIAGRAM
| i DP-3530 POWER SUPPLY UNIT
H SCALE UNIT APPROVID | CHICRED | DENGNED | DRAWN PARTS Mo
i miL * m ) _
men | T T R
v [ - = s
J 2 3 ! 4 ' 5 Javan CBM Corporation THIRD it

10

CITIZEN



iDP-3530 Service Manual

11

2 I
1c10 ﬁ <51
MAX232 s fe N
A A art a7 u»m 340
e
H H 8
3 s 5
3 & 4
2 3 3
n cN& 1 t 3
{47=7x~2)
0-3u8 2%P T : 0SC 110592 3
l.Bll’IWu £ L LS373
I
= &vﬂ ) 30 ) el bN.WNNMm n..ra
. x1 X2 I o
(7Iv2-22) Ly P ) =FO78C10A Pog ° % 40 0
3=rAssy CAt 2 5 3 2 m
50178 01t PAg 3 iz 3
-] q I3 5 S & 4
i g P ;e i
3 3 i 7 8 3 7 7 \\l/
L3
‘s H = v /HE
=1 - B (b
R et ¥ ¥ = i
AlLQ 2 s 2 HH
3 s a
$ £ _
1 2
? sl 3 ul .
s_w 45 bk T
m gwﬁ
g ANO <
7 1 3
2
— 3 Te]
] ¢ Q
(TUvz=28) MCOE! s O
a-tAssy CA2 7 vo W
= A = 5 bl
EZE o =
N2 - 3.4 (2w
150104} IC1araay v 13
Anﬂm_ CIB(I0S) IC20mav = A%E.mlm |, =
C17(104) IC3eraay +
C22(104) ICSar a3y aNDl 2
P
Aa 1921117 SRogazn
{ mw .w =) MATERAL Ax 192919 BN L 0Rm [
= 19251 BANEATY 093
MAK | DATE RSN VN
i zawmo_.nw 530 ME Control Board Circuit Diagram
e 4 IDP-3530 Serial
T |<uE ORAWN  |PARTS Na
Japan CBM Corporation S PC760-011
30.2.10

(2) Control Board : Serial

CITIZEN



iDP-3530 Service Manual

(3) Control Board : Pardlel

740873

1
el

5 s
CN& 1 : s
(4v3-7z~2) i i
D-SUB 36P s g
¥ W HA: o = .
MAN. FALT [ Fquu N Y
Bi8%.8( 7 5% % ic1 7206 %ﬂmwﬂ mu m@
' . 0, 1
1| =3B ﬂ&Lﬁsz . A1, “
¢ K s HRENR
T o s |60, o2 7a0573 oS 10892
K 8 —% 3 M
» ( k-md.. 2 IC3
s A" NP e A % 1S A
) N . e 0 %0 1 mﬂn
mwf J 4 ﬂm X1 X2 Iﬁ |.Wml
K_W - VYec z .|,_ J xu.“_ u nu. _.. em
1881017 V8 HAf3408 , —2 a0 3 i i EE
= 7] ; PiEs
- i : LSS
5 i ’ ‘et T i
(FUya-a9) m M e f4L 7 3 nﬁm
3-rAssy CA1 ey ,.IH.n ) - 3 IS
25-0176 ldhﬂo T T I & 10 H i1
- o B Yoo 3 °
2] |moTeR Afor 2 Lt c .
il lcc s 2, Lk K i RS_10K —Wr—} hla_. 7 NG
L 18 LF SO, uul_I.TLﬂ_xL&vr [ EA: 3 45
1 Tl v ¥ v
(FUv2-a8) 2 OF
a-rAssy CA2 n T
5077 . B 3TH
AP L4 ld%
| 3 L1 s
R
. FLC15(104) IClaezay
CN2 2 C16(104) 1020223~
{PE) C17(104} IC30rtaax
* ! C20(104) IC9mszav
C21(104) IC120rea s
A 2. 077 ABIROPTION
ARALENET
! A= 192070 ami¥cioam _ |camm
MATERAL 9.
Amum-u 2 T A= 192511 Eantanx C-0093
p 3 S2UNE) o e MARK | DATE REVISN REV.Na.
¢ ary TITLE . 0 v
I ? I UNIT o TREAE zs_mm_.vwmwo (| Control Board Circuit Diagram
e fm | IDP-3530 Parallel

cs, T Lc8 7. T[XAE [GRECKD [0ESGNED [ORAWN [PARTS Na
% T % 7és0¢ Japan CBM Corporation T I ..awﬂm,,_. PC760-012

12

CITIZEN



iDP-3530 Service Manual

3. Parts Position

CITIZEN 13



iDP-3530 Service Manual

(1) Power supply Unit : 120V

Note: 1. Do not mix up DS1 & DS2 -
2. Regulator & Transistor should

AC Cord cs %.f
. N be mounted as below
£ T
2 =)
oW- ")
2. -zl
ER .Mu“.., .
~— ]\ Heat shink = _
25—-0174 (120V) W0 (i
. Insulation sheet
PC760—02 ° 3
TREATMENT MATERIAL te= . ~ *
P MARK | DATE REVISION -  |REV. Na.
TOLERANCE MODEL QTY T
DIMENSION  {ANGLE \PP3530, 3540 PARTS POSITION -
Py _ - ¢ POWER SUPPLY UNIT FOR 120V
SCALE, |JUNIT APPROVED |CHFCKED | DESICNED | DEAWN PARTS Na
inch | 90-0143
mm
Japan CBM Corporation THIRD ANGLE

14

CITIZEN



iDP-3530 Service Manual

(2) Power Supply Unit : 220V

Not used: nwL.N

AC Cord
E6100~-815

80-0049
(Zs-z3~0) 1 2

WARNING

...........

PC760-02

4 O

FSP-SRHVI

Note: 1. Do not mix up DS1 & DS2

2. Regulator & Transistoe should
be mounted as below

O 10

Jumper 7]
1 il
.......... . Heat sink
SH .
> / Insulation sheet

TREATMENT MATERIAL - _
. P MARK | DATE REVISION REV. No.

TOLERANCE NODEL QTY [TmE
BRERSION | ANGLE P 3530, 2540 'PARTS POSITION _

: : - -POWER SUPPLU UNIT FOR 220V

SCALE
inch

UNIT gyn:g —uﬂ..nzau DRAWN PARTS Ne.

mm

90-0144

|

Japan CBM Corporation

THIRD ANGLE

15

CITIZEN



iDP-3530 Service Manual

(3) Control Board : Serial

@ 1 n 1

- @%ﬁ

[

¥
puRq 8,9xM pdEn

- 1
- ' =
/&L 2
TR RNSS
N[
&7 5
i5 1
TR
gg § L
[ ]
. Sl—
3
: 581 | M X
2 2l e -EE . g
1B =8 Er.ﬂ_u_.: L
¥ S| F By : -
g 9 & : 8
B gg 55 @( FCN-674J025 ~GC ]@ g
al=t it < * ;
Rfm* g%)
o) - \
g & #E E
o ¥ E
1
Blo |5¢
5 |3
© i3y
P
L
; ;
3
2. ;
n i m T 3] T ) T 7] T 3

CITIZEN 16



3 ' 4 ' 35 \ & : , , . _

iDP-3530 Service Manual

(4) Control Board : Pardlel

Dicde
E aoOupwo {GP15B) -

%ﬁ%ﬂ - ] ® !M- | | [

fnld e
as
- & w R [TEm lwe ] SO m
ROM (ICYniA) c21. H
T7izs - ) cPU o @D iz &
ApD7TECIO .ﬂ%.ww_-_ H n \u/ -
H% C e U@n
I .
38 =

PC760-012 e — R
Gw G aiss ¢PL—670I @m o ——— ..g_ mm
5 D = 8 [} K 'w ﬂm o

D\\%L ;FE —
ey S n%\

.Used wire's band Cord assy ooaap-ﬂ

\ FCN- 5.84J036— /v ]

0
i
@Dcs
-
®
coos
©
ics
|
®
|

E4B8000290 E48000275(25-0176)
Pin No. 1 as brown Pin No. 1 as hrown
TREATNENT MATERIAL 1= - _
b= MARK | DATE REVISION JREV. No.
TOLERANCE MODEL oTv L
DIMENSION | ANGLE ‘MD PARTS POSITION
iDP3530 + PARALLEL INTERFACE*
SCALE UNIT APPROVED _!_-DE_ *un_nrd “ﬂ:; PARTS No.
inch , _ [#e.| 90 - 0141
mm foon ¢ 20
. SGLE
| Jom=n (UBM Corporation THIRL A

™

17

n

CITIZEN



iDP-3530 Service Manual

4. Parts List

CITIZEN 18



iDP-3530 Service Manual

PARTSLIST
EXPLODED VIEW IDP3530
Ref.No. Parts No. Description Qty | 3530F | 3530P
1 E 4002-300 [Chassis 1 - A
2 E 4002-320 Stand, Transformer 1 - -
3 E 6601-220  |Printer Stand 2 - -
4 E 4035-640 Plate, Ground 1 - -
7 PCB Assy, Power <1> - -
13 E 4002-310 ([Plate, Shield 1 - -
14 PCB Assy, Main <1> - -
17 E5117-020  [Holder, PE Switch 1 - A
18 E 4000-580 |Assy, PE Switch 1 - A
18-1 E 5071-070 |Key Top, PE Switch 1 - -
-2 E 5102-440 Switch, PE Swnsor 1 - -
-3 E 48000300 Harness, PE Sensor 1 - -
20 E 62010360 |[Case, Top 1 - A
21 E 5200-100 [OP Sheet 1 - A
24 E 6202-870 Case, Bottom 1 - -
-2 E 6611-330 |Paper Holder 1 - -
-3 E 6612-040  |Spring, Paper Holder 1 - -
-4 E 6302-240  |Foot 2 - A
32 E 6204-730  |Printer Cover 1 - -
33 E 6220-130  |Paper Cutter 1 - A
35 E 6310-030  |Writing Table (Option) <1> - -
40 E 6101-115 (Bush, AC Cord SR4N4 1 ok ok
E 6101-120 (Bush, AC Cord SR4N4 1 ok ok

Paper feed : 3530F Friction Type, 3530P Pin Feed Type

* 120V only, ** 220V only

CITIZEN

19



iDP-3530 Service Manual

PARTSLIST
EXPLODED VIEW IDP3530
Ref.No. Parts No. Description Q'ty | 3530F | 3530P
43 E 6600-880 |Printer DP-610MFC <1> A
E 6600-780 |Printer DP-610DFC <1> A
E 6600-890 |Printer DP-612MFC <1> -
E6600-790 |Printer DP-612DFC <1> A
E 6600-900 |Printer DP-614MFC <1> A
E 6600-810 |Printer DP-614DFC <1> A
E 6600-910 |Printer DP-610MPC <1> A
E 6600-920 |Printer DP-610DPC <1> -
E 6600-930 |Printer DP-612MPC <1> A
E 6600-940 |Printer DP-612DPC <1> A
E 6600-950 |Printer DP-614MPC <1> A
E 6600-960 |Printer DP-614DPC <1> A
44 T 6192-01* Knob <1> -
45 E 6310-010 Rear Cover 1 -
46 E 6310-020  |[Stacker 1 A
66 |ST3M3x6 Screw  M3x6 5 - A
67 |ST2M3x8 Screw  M3x8 1 - A
68 |ST3M3x 14PW |Screw M3x 14-PW 2 - A
69 |ST3M4x 20 Screw  M4x20 2 - A
70 |SWT4x6 Screw  M4x6TW 2 - A
71 |ST2M3x 14 Screw  M3x 14 4 - A
72  |ST3M3x 12PW |Screw M3x 12 -PW 2 ok ok

Paper feed : 3530F Friction Type, 3530P Pin Feed Type
Note: * Parallel only

CITIZEN

20



iDP-3530 Service Manual

PARTSLIST
POWER SUPPLY UNIT IDP3530
Ref. No. Parts No. Description Qty | 120V | 220V
CN 5 E 4014-230 |Termind  GSK801 1 A
S 1 E 4003-540 |P Switch T883S1BBR1-U 1 - -
F 1 E 4006-220 |Fuse Holder UF-0033#01 2 - A
E 4005-470 |Fuse EAWK - 500mA 1 A
E 4005-475 |Fuse 5MF-1A 1 -
F 3 E 4006-220 |FuseHolder UF-0033#01 2 - A
E 4005-550 |Fuse EAK-1A 1 -
E 4005-475 |Fuse 5MF-1A 1 -
NF E 4009-340 |NoiseFilter  SU10V-10030 1 - A
IC 1 E 390-150 Regulator M5231TL 1 - A
2 E 390-160 Regulator uPC2405HF 1 - A
TR 1 E 324-010 Transistor 2SB974L 1 - -
DS 1 E 450-320 Diode 2KBPO2 1 - A
2 E 450-330 Diode KBPO2 1 - A
C 1,2| E2310-010 |k Cap. CFX22E104M 2 - A
5| E2022-790 |El. Cap. 63PNG2200A 1 - A
6| E2110-140 |C.Cap. DD804B101K50 1 - A
7| E2010-080 |El.Cap. 50MR-1 1 - A
8| EZ2047-725 |El. Cap. 35MR-470 1 - A
9| EZ2033-740 |El.Cap. 16MR-3300 1 - A
10 E2010-010 |El. Cap. 16MR-100 1 - A
11 E2310-210 |M.Cap. DYM21H104K 1 - A
R 1 E3331-041 |Resistor 1/4W 330 J 1 - A
2| E4561-041 |Resistor 1/4W 560 J 1 - A
3| E3203-041 |Resistor 1/4W 20K F 1 - A
4 E3152-110 |Resistor 1/4W 154K F 1 - A
CN 1B E 48000295 |Connector FSP-SHVQ 1 - -
CITIZEN 21



iDP-3530 Service Manual

Exploded View : IDP-3530 (1)

CITIZEN 22



iDP-3530 Service Manual

Exploded View : IDP-3530 (2)

23

CITIZEN



iDP-3530 Service Manual

PARTSLIST

MAIN BOARD UNIT

IDP3530

Ref.No. Parts No. Description Qty | 3530F | 3530P
-P -R
IC 1 E107-150 |IC uPD78C10AGQ-36 1 - A
2| E107-16* IC M5L27128K 1 - -
3| E201-581 |(IC SN74LS373N 1 - A
4] E390-100 |Tr.Array HA13408 1 - -
5/ E390-140 |Tr.Array STA301A 1 - -
6| E202-670 |[ResetIC M51943BSL 1 - A
7,8 EZ2010250 |IC SN74LS04N 2 - -
9| E201-581 |[IC SN74LS373N 1 -
E 2010310 |IC SN74LS540N 1 A
10f E201-671 |(IC SN74LS32N 1 -
E202-680 |IC uPD4711ACX 1 A
11} EZ202-710 |IC SN7406N 1 -
12 E201-591 |(IC SN74LS73N 1 -
TR 14 E359-045 |Transistor  2SC945 4 - -
5/ E379-035 |Transistor  2SD794AQP 1 - -
D 1 EA400-130 |Diode GP15B 1 - A
LED1, 2 E480-290 |LED SEL2310E 2 - A
R 1-3,13] E3102-041 |Resistor 1/4W 1K F 5 -
28
R 1-3,13] E3102-041 |Resistor 1/4W 1K F 4 A
4-6| E3103-041 |[Resistor 1/4W 10K F 10 - A
10-12
16, 19
20, 22
7| E3101-041 |Resistor 1/4W 100 F 1 - A
8,9,17] E3332-041 |Resistor 1/4W 33K F 9 -
18, 24, 26
27,29, 30
8,9,17] E3332-041 |Resistor 1/4W 33K F 5 A
18,24

Interface: -P: Pardldl, -R : Serid

CITIZEN

24



iDP-3530 Service Manual

PARTSLIST
MAIN BOARD UNIT IDP3530
Ref. No. Parts No. Description Qty | 3530F | 3530P
-P -R
R14,15 E3331-041 |(Resistor 1/4W 100 F 2 - -
21| E3472-041 |Resistor 1/4W 47K F 1 - -
25( E3159-011 ([Resistor 1/4W 15 F 1 - -
C 12 E2110-110 |C.Cap. DD804-63B102K50 8 -
4-6,9
10, 19
1,2 E2110-110 |C.Cap. DD804-63B102K50 7 -
4-6,9
10
3] [E?2110-123 |C.Cap. DD806-63F103212 1 - -
7,8 E2133-020 |C.Cap. DD105-63CH300J5 2 - -
12| E2047-640 |El.Cap. 35MR-47 1 - -
13] E2010-010 |El.Cap. 16MR-100 1 - -
14-17| E?2110-300 |C.Cap. DD306-63F104212 6 -
20,21
14-17| E?2110-300 |C.Cap. DD306-63F104212 5 -
22
18| [E2147-080 |C.Cap. DD804-63B102K50 1 -
18-21| E2022-500 |El. Cap. 16MR-22 4 -
RA 1 E 3101-110 |[Re. Array SR-10RA-10K 1 - -
2 E 3103-140 Re. Array SR-8RA-10K 1 -
2,3 E 3103-140 Re. Array SR-8RA-10K 2 -
3 E 3332-110 Re. Array 10X3.3KJ 1 -
0sC E 501-220 Crysta CAS11.0MT020 1 - -
S 12 E5102-450 [Push Switch SKHHNH 2 - -

Interface: -P: Pardldl, -R : Serid

CITIZEN

25




iDP-3530 Service Manual

PARTSLIST
MAIN BOARD UNIT IDP3530
Ref. No. Parts No. Description Qty | 3530F | 3530P
-P -R
CN 1 E 48000260 Connector B5P-SHF-1 1 - -
2 E 4800-690 Connector 5267-02A 1 - -
3 E 48000265 Connector  5045-04A 1 - -
4 E 48000270 Connector FCN-684J036 1 -
E 48000280 Connector FCN-674J025 1 -
E 48000285 Holder FCN-770A68 1 -
DS 1 E 5103-230 Dip Switch KSDO08 1 -
1,2 E 5103-230 Dip Switch KSDO08 2 -
E 4010-350 Heat Sink 1 - -
S3x8 Screw M3x 8 2 - -
N 3-1 Nut M3 2 - -
CA 1 E 48000275 |Card Assy 25-0176 1 - -
2 E 48000290 |Card Assy 25-0177 1 - -

Interface: -P: Pardldl, -R : Serid

CITIZEN

26



iDP-3530 Service Manual

PARTSLIST
POWER SUPPLY UNIT IDP3530
Ref. No. Parts No. Description Qty | 120V | 220V
E 4010-340 |Heat Sink 1 = A
E 6101-105 |Heyco MP4N4 1 -
E 6101-125 |Heyco MP5N4 1 =
E 4001-810 |P. Trans. 25-0174 1 -
E 4001-815 |RP Trans. 25-0175 1 =
E 6100-580 |ACCord 25-0184 1 -
E 6100-585 |ACCord 25-0185 1 =
CITIZEN 27



